

SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)



DEPARTMENT OF MATHEMATICS

CONVOLUTION THEOREM : Definition: The convolution of two sequences {x(n)} and fy (n) y is defined as (i) $\int \chi(n) + y(n) = \sum_{k=1}^{\infty} f(k) g(n-k)$ if the Berruences are non-causal and (ii) $\begin{cases} \chi(n) + y(n) \end{cases} = \sum_{k=0}^{n} f(k) g(n-k) \text{ if the sequences} \end{cases}$ are causal. 2. The convolution of two functions f(t) and g(t) is defined as $f(t) \star g(t) = \sum_{k=0}^{n} f(kT)g(n-k)T$, where T is the sampling period. State and prove convolution theorem on Z-Transform: If z [x(n)] = x(z) & z [y(n)] = y(z) then Statement: $Z \{ \chi(n) \neq \mathcal{Y}(n) \} = \chi(z) \cdot \mathcal{Y}(z) .$ $Z \left\{ \chi(n) \neq y(n) \right\} = Z \left\{ \frac{5}{k_{-\infty}} \chi(k) y(n-k) \right\}$ proof $= \underbrace{\underbrace{s}}_{n-\infty} \left[\underbrace{\underbrace{s}}_{k=-\infty}^{\infty} \chi(k) \Psi(n-k) \right] z^{-n}$ $= \underbrace{\overset{\infty}{\leq}}_{k=-\infty}^{\infty} \chi(k) \underbrace{\overset{\infty}{\leq}}_{n=-\infty}^{\infty} \gamma(n-k) z^{-n}$ By changing the order of summation n=m+k7 $= \underbrace{\underbrace{5}}_{K=-\infty}^{\infty} \chi(k) z^{-k} \underbrace{5}_{M=-\infty}^{\infty} y(m) z^{-m}$ $= X(z) \cdot Y(z)$.



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution) DEPARTMENT OF MATHEMATICS



(17)Problems: (1) Find $z^{-1}\left[\frac{z^2}{(z-a)^2}\right]$ $\frac{z_{\text{soln:}}}{z^{-1} \left[\frac{z^2}{(z-a)^2} \right] = z^{-1} \left[\frac{z}{z-a} \cdot \frac{z}{z-a} \right]$ $= z^{-1} \left[\frac{z}{z-a} \right] \star z^{-1} \left[\frac{z}{z-a} \right]$ $= a^{n} \star a^{n}$ $= \sum_{k=0}^{n} a^{n-k} a^{k} by convolution theorem$ $= \frac{n}{5} a^{n} = a^{n} \frac{n}{5} (1)^{k} K_{=0}$ $= (n+1)a^{n}$ $\frac{2}{z^{-1}} \operatorname{Find} z^{-1} \left[\frac{z^{2}}{(z-a)(z-b)} \right]$ $\frac{z^{-1}}{z^{-1}} \left[\frac{z^{2}}{(z-a)(z-b)} \right] = z^{-1} \left[\frac{z^{-1}}{z-a} \cdot \frac{z}{z-b} \right]$ $= Z^{-1} \left[\frac{Z}{Z-b} \right] \star Z^{-1} \left[\frac{Z}{Z-b} \right]$ $= a^{n} \star b^{n}$ $= \sum_{k=0}^{n} a^{k} b^{n-k} by Convolution theorem$ $= b^n \frac{s}{5} \left(\frac{a}{b}\right)^k$ $= b^{n} \left[1 + \frac{\alpha}{b} + \left(\frac{\alpha}{b}\right)^{2} + \dots + \left(\frac{\alpha}{b}\right)^{n} \right]$ $= a^{h} - 1$